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5. Discuss in detail different types of alaukika sannikarsa with

A W;im@?@ e oy b bl exgmpglc)es following the Nyaya . ‘ o
B8 FRANC s PO 0. (a) Explain the definition of samavaya in detaj el
2eF5-8 philosophy, 'ya in detail after the Valsesl:\(z;
vo | (F) SASETS T ’fﬁ?f@ Serafagam A I b (b) Distinguish between samavaya and sarmyoga . 6
(R) SFSATE W & 7 ¢ raa Sifod 2 AeEinal 3| v Unit—3
351 (3) ANFS TS WRW Feweet Afes zawe? ‘ >of 7. (a) Distinguish between parinamvada and vivartavada 4
(R) SR TS ICHA ACH GIET TAE ROFA IR I o f kgb) E}.;(p]ain the arguments in favour of satkaryavada ;ifter the
samkhya philosophy.
[ENGLISH VERSION] 8. (a) What is citta in yoga philosophy? g
Question No.1 and any other five questions taking at least one from (b) Explain the different kinds of 'cit.tabhﬁmi g
each Unit (c) Exp]ai_n, in this context, the different kinds of samadhi . 6
1. Answer in brief (any four) : sxqff 2 g) \\?\//Tt :_]S anupalabdhi pramana ? - 6
(a) Explain the concept of purusartha as admitted by the Carvaka Ry, e, enzi i Y . 0Ahe ,1,3 gana M imarhsaka-s admit anupalabdhi as an
philosophy. (b) Is Jaina ‘Syadvada’ a kind of scepticism? Discuss. (c) pramana? Explain with examples. 10
Explain, in brief, the main tenets of Vijnanavada. (d) Why do the Unit — 4 :
Vaisesika-s admit visesa as a distinct category? (e) What isf 10. (a) Explain the three grades of reali . e
Vit philodopls g ty as accepted in Advaxtg

Kevala-vyatireki anumana ? Give an example. (f) What is meant by

the term ‘Yoga’? Why is yoga philosophy known as ‘Sesvara (b) Is Brahman and Isvara identical in Advaita Vedanta

Sankhya’ ? (g) Discuss the nature of arthapatti pramana and its differentf philosophy? Discuss. 8

Kinds. (h) What is the basic tenet of Visistadvaitabada? 1. gﬁ)) How does Ramanuja refute Mayavada? 10
y Fiiy Y Discuss, in brief, the relation of B . YdLzy

Unit - 1 Ramanuja rahman and Jiva aﬁe6r
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2. (a) Discuss dehatmavada after the Carvakas -
(b) Discuss, in this context, the main tenet of bhutacaitanyavada

(c) Are the above mentioned views acceptable? Give reasons i

favour of your answer.
3. (a) What is the meaning of the term ‘saz " in the Bauddha philosophy

(b) Explain critically, in this context, the theory of momentarines
]

4. (a) What do you mean by ‘naya’ in Jaina philosophy?
(b) Explain with examples the theory of ‘saptabhanginaya’ aﬁl

the Jaina philosophy.
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' Distinguish between sensation and perception.

Second Paper-— 2017 5

[ENGLISH VERSION}

Question No.I is compulsory and answer any other five questions
taking at least one from each Unit
1. Answer, in brief, any four questions : 5x4
(a) What are the reinforcing factors for the organization of the sense-
field? (b) What is conditioned reflex? (c) Explain the characteristics of
consciousness. (d) What is the difference between independent variable
and dependent variable as used in experimental method? (e) “We belong
to associations, but we work through institutions’— Explain. (f) State
and explain the main functions of family. (g) What, according to Mahatma
Gandbhi, is trusteeship? (h) What is utopian socialism?

Half - 1
(Psychology)

Unit -1
2. What is introspection? What specific objections have been raised
against this method by the behaviourists? Are these objections tenable?
Give reasons for your answer. 4+6+6
3. What is perception? Explain the processes involved in perception.
2+6+8
4. Explain Skinner’s theory of operant conditioning. Discuss the role
played by positive reinforcer in operant conditioning theory. 8+8

Unit -2
5. Critically explain the view that “mental states are identical with
certain physical states of the brain” regarding mind-body relation. 16
6. Describe the Binet-Simon Test of intelligence. What are its

disadvantages? How does Terman-Merill improve upon this scale?

8+4+4

Half - 11

(Social and Political Philosophy)

Unit -3
7. What is community? What are its bases? Distinguish between com-
munity and association. Can a monastery be regarded as a community?
Give reasons for your answer. 2+6+642
8 “The history of all hitherto existing societies is the history of class-
struggle’ — Explain and examine this statement of Marx. 10+6
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9. Explain the organic theory regarding the relation between individual

and the society. Do you consider this theory satisfactory? Discuss. 10+6
Unit - 4 ;

10. What is secularism? Analyse the concept of secularism in the Indian

context. 4+ 12
11. Explain critically liberal democracy. How can we overcome the

demerits of this type of democracy? 10+6
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[ENGLISH VERSION]

Question No. I is compulsory and answer five more questions taking

at least one from each Unit

1. Answer in brief (any JSour) : / 5x4
(a) Are knowledge and beljef different from each other ? Discuss
after Plato. (b) How many types of causes are admitted by Aristotle?
Explain in brief. (c) Explain, after Descartes, the distinction between
clearness and distinctness of perception. (d) Explain the distinction
between the three levels of knowledge as admitted by Spinoza. (e) What
is the Law of Sufficient Reason as admitted by Leibnitz ? (f) How many
types of complex ideas are accepted by Locke? What are these? Give

example of each type. (g) What is the main thesis of Berkeley’s Idealism?

(h) Discuss Hume’s view regarding causal necessity. ‘

Unit - 1
2. Discuss, following Plato, the characteristics of ideas or forms. How
does Plato explain the relation between universal and particular? 10+6
3. Discuss briefly Aristotle’s objections against Plato’s theory of ideas.
Discuss, in this connection, Aristotle’s ‘Third Man’ argument. 12+4
Unit - 2
4. What, gccording to Descartes, are the criteria of truth ? Explain
with illustrations. What are the objections against these criteria? Discuss
briefly. 10+6
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5. What does Spinoza mean by ‘modes’ ? Explain with illustrations
the different types of modes. How does Spinoza explain the relation
between substance and modes? 4+6+6

6. Explain Leibnitz’s doctrine of ‘pre-established harmony’. What is
the importance of this principle in the metaphysics of Leibniz 2 10+6

Unit-3

7. How does Locke distinguish between primary and secondary
qualities? What are the objections raised by Berkeley against this
distinction? Discuss. 10+6

8. Is Berkeley a solipsist? Give reasons in favour of your answer. 16

9. Distinguish, after Hume, between impressions and ideas. Explain
and examine Hume’s arguments in favour of the thesis “Ideas are copies
of impressions™. 4+8+4

Unit - 4
10. How does Kant distinguish between analytic and synthetic

judgements? Explain, after Kant, the nature of the judgement *7+5=12".
- 6+10

11. (a) How does Kant show in his metaphysical exposition of the
concept of space and time that space and time are not empirical, but
apriori ? i

(b) Explain the following :

Space is a form of sensibility. 12+4
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| [ENGLISH VERSION]
Question No.I is compulsory. Answer Jive more questions taking at

least one from each unit. a
1. Answer any four questions : 5x4
(a) What is the relation between truth and validity? (b) What is a

complex dllemma? Give an example. (c) Are two propositions necessarily
gontrgdxctcﬁy if one is true and the other is false? Justify the answer. (d)
Explain \ylth example, the addition theorem of calculating probabiflity
(e) Explain br}eﬂy the different senses of ‘or’ with appropri;te examples'
(f) Explain with example the fell-swoop method of testing validity. (25

What is a propositional function? What are the ways of getting a

roposition ﬁ_Om a.prOpositional function? (h) Explain, with example
the rule of Existential Instantiation. y
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Unit - 1
2. (a) Translate the following sentences, into standard form categorical
propositions : 1x4

(i) All men sometimes ert. (ii) If a thing is scarce, then it is not
cheap. (iii) Not all is gold which glitters. (iv) He who takes the sword
shall perish by the sword.

~ (b) Why do the modem logi

valid opposition?
(c) What is complementary class? What is the complementary class
of a complementary class? 4+2
3. (a) Represent in Boolean equations and Venn diagram : 2x2
(i) There are many things which are not pleasant. (ii) Honest

politicians exist.

(b) Test the validity of following arguments by means of Venn
diagrams (any two) 4x2

(i) There are beautiful humans, but humans alone are vile:
therefore, it is never true that whatever is beautiful cannot be vile.

(i) In all valid syllogism the middle term must be distributed
at least in one premise. Therefore this syllogism is valid, since in this
syllogism the middle term is distributed at least in one premise.

- (iii) No one present is out of work. No members are absent.
Therefore all members are employed.
(c) What is a null class? What is the significance of null class in
Boolean interpretation of categorical propositions? 143
4. (a) What is the difference between mixed hypothetical and mixed

cians not accept contrary opposition as

disjunctive syllogisms? _ 4
(b) Determine the forms and test the validity of the following
arguments : 4x2

(i) If this syllogism does not commit the fallacy of affirming
the consequent, then it is valid. This syllogism is valid, since it does not
commit the fallacy of affirming the consequent.

(ii) Either today is Monday or today is Tuesday. Today is |

Tuesday. Therefore today is not Monday.
(c) What is enthymeme 2 Give an example of a third order

enthymeme? Rt

" Fourth Paper —2017 13
: ~ Unit-2
+ (a) What is an analogical argument? 4

b) Di P : :
argUIT‘(er?tsl?lscuss the criteria used for the appraisal of analoglclazl

6. Wr'rte.notes on (any two) : 8+8

expla(a)'DlﬁerenE meanings of ‘cause’ (b) Scientific and unscientific
nation (c) Mill’s Joint method of agreement and difference.

7. Calculate the Probability : ' : 4x4

(a) What is the probability of getting atmost one tail in three tosses
of a coin? !

(b) Four men kept their respective umbrellas at the corner of aroom
and sat together for a game of cards. When they started for their homes
after the game of cards was over, what is the probability that each of them
would pick up his own umbrella in the dark, given that they picked up
umbrella one by one and no two men picked up the same umbrella?

(c) What is the probability of getting at least one non-ace in four
successive draws of card from a standard packet of cards if the card
drawn once is replaced before the next draw?

.(d) What is the probability of roling three dice so that total number
; of points that appears on their top faces is 3 ?

Unit-3
: ;3[ (a) Characterise the following statement forms by means of truth
ables : 3x2
) [(poq)orl=l(~qo~p)>1] (i) ~[(P>g>(~q9>~p)
(b) Determine the validity of the following argument using the
method of resolution : ' i o
po(@>1),9>(r>os), . po(q>5s)
(c) Determine the truth-value of the following by using the method
of resolution : [(p.q) v (p.T)] 2 (q=T1) 3
(d) Explain the difference between truth-functional compound
statement and non-truth functional compound statement, 4
9. (a) Construct formal proof of validity (any two) : 4x2
() Qv(RS), (Q>T).(T>S) / - S
' (ii) If either Socrates is happily married or he was not happily
married, then he was a philosopher. Therefore Socrates was a philosopher.
(iii))(T2E).(A>L)/ -.(TvA)D(EvL)
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(b) Test the invalidity by the method of assigning truth value : 4x2
(i) (A2 B).(C>D), AVCi (BVD)D(E.F), ES(F2G),
Go(A>H) [/ - H
(ii) If Julia is intelligent and studies deeply, then she will get
good grades, and pass her courses. If Julia Studies deeply, but lacks
intelligence, then her efforts will be appreciated; and if her efforts are
‘ appreciated, then she will pass her courses. If Julia is intelligent, then she
J studies deeply. Therefore, Julia will pass her courses.
: Unit - 4
10. (a) Symbolise the Sentences using quantifier individual variables
etc. 2x4
(i) Notany applicant was hired. (ii) Hume isa philosopher, but
he is not a rationalist. (iii) Some books are not boring only if they are
well written. (iv) No car is safe unless it has good brakes.
(b) Construct formal proof of validity (any two) : 4x2
() (x) (Ix 2 Ix), (3x) (Ax. ~Ix), -~ (x) (x> Ix)
(it) Plato was a philosopher. Therefore everything is either |
perfect or not perfect. :
(i) x) (Gx 2 Vx), (x) (Rx D 0x), /(%) [(Gx.Rx)2 (Vx.0x)]"
11. (a) What is normal form formula? Give an example. 4
(b) Find normal form equivalents to the following : 2x2
(1) ~(x) [~5x.~ Tx)] (i) ~(3x) (Hxv ~ Mx)
(c) Determine the invalidity by the method of assigning truth value
4x2
(1) x)(Ax 2 Bx)
(2x) (Cx. Bx)
(3x) (Cx. ~Bx)
MU (AR D (x)
(if) No employer who is either inconsiderate or tyrannical can be
successful. Some employers are inconsiderate. There are tyrannical
employers. Therefore no employer can be successful.
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‘ (e) Determine the sannikarsa in each of the following cases of
perception and explain : -

(i) Hearing the sound of horn of a car (ii) Tactual perception of
heat of warm water. - ]

' (f) Determine the distinction between kevalavyatireki ¥ nga
nd kevalanvayi linga with examples. :

(g) Why is the term ‘Jnddnam’ inserted in the laksana of smriti?
(h) What is laksana? Explain and exemplify jahat laksand.

4|
A () WA STRel 2 P oT e 11 7 |

b
(%) SFRAZ 2ve SHAe T ix sFrers Bi 9

Unit-1I
Sl 2. (a) Explain the lak f ayatharth Z give

= plain the laksana of ayathartha anubhava as given by

v | fasfafe safifeetm arefa =, g e g ot 77 gz Jmambhatta. - p 4
2 @7 T O PR T ¢ ‘ _ xs - (b) What objection has been raised against the laksana in
(%) 713 =198 T, Ry 77 A e | P ital o Sy

() @ R s o Fﬂ}l QE.‘H ¢ (c) How does Annambnatia refute this objection?- 4

(1) X3 forey : ET Phegie el (d) Why is samsaya treated as a kind of ayathartha anubhava?

L w’ J 1 & Hit 4

(%) < WRE, (XY OIS TG B0 | 3. (a) Explain the laksana of karana according to Tarkasamgraha.

2T W5- 8 5
S 1 (3) AITIEH, @iarsl, AEY Fes TEES A IR/ vy (b) Which word does Annambhatia introduce to justify the
() 1R =1y Sevifen owng 2reibE 6 e 2 iz aksana of karana in Dipika and why?- : 6

37| ; 4 (c) Explain asamavayi karana with examples. D

S0 | (%) *ifE I 9 2 ‘ : Unit =2 :

() ‘GRE Wl iz = B ; g 4. (a) Explain the argument given by Annambhatta to establish

(o) =fEsz Frez : dlbti g Mo v Rithe existence of nirvikalpaka pratyaksa. : 8

i RIS ﬂ’gﬁ? 8 (b) How would you classify the cognition of pothood that

55 | (3) T @R 3N — <t i M o ¢ @3 e oA Warises immediately after the sense object contact? -

I I oret R : S+4 (c) Can nirvikalpaka pratyaksa be called prama ? Discuss. 6
(}) THACT IS G2 T© A FCA0EA 7 v 5. (a) What is ‘yogyanupalabdhi’ ? Explain the nature of ‘yogya-

upalabdhi’ with reference to the context in which it is introduced
Dipika. ; e
p(b) Is ‘yogyanupalabdhi’ considered as a separate kind of prama-
a by Annambhatta? Explain the view of Annambhatta in this
! 2 %

ENGLISH VERSION]
Answer Question No.land any other five questions taking at least
one from each Unit
1. Answer in brief, (any four) : 5x4
(a) Explain the laksana of buddhi given in Tarkasamgraha.
(b) How can one perceive a distant sound? Explain after
Annambhatta. i ‘

Context.

3 Unit-3 _ :
. 6. (a) Explain a paficavayavi nydya with an example. 10

(b) Is each of the five avayava-s necessary for an GM?

(c) Give the laksana of badhita hetvibhdsa. Explain with R 6

examples. i Cuss. : :ksatd after Dipika. 8
. : : : o B laksana of paksa ey Sl LS

(d) Give an explanation: of the lak irva given in’ iR 7. (a) Explain the laksay . ksata in respect of the laksana of

Tarkasamgraha. . S s ; (b) Analyse the role of paksatd i BESR R Ao 8

anumiti as given in Tarkasarigraha.
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8. Point out the paksa, sadhya and hetu in each of the following
casc¢s of anumiti and explam why the hetu is defective: dx4
(a) Everything is momentary, because everything i is existent,
* (b) The self is destructible, because it is a substance.
(c) The jar is eternal, because it is produced.
(d) The hill is smoky, because it has fire in it.

Unit-4
9. (a) What does Annambhatta mean by akamksa, yogyata and
sannidhi? 12
(b) Is each one of them necessary for the generation of verba]
cognition? Discuss. 4
10. (a) What is Sakti ? 4
(b) What does the word ‘table’ signily by its sakzi ? 8
(c) How is sakti ascertained? e 4

11. (a) ‘All cognitions are valid’ — Which system advocates this

view? How does this system explain illusion? 1+7

(b) How does Anhambhatta refute this view? 8
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stion No.lI is compulsory and answer ﬁve more questions takmg

t one from each Unit 5x4

. Answer, in brief, any four quesuons 4% roposmoﬁ Give
(a) Distinguish between a sentence z:]n am;:: proposifls
ples of two sentences which express the s
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(b) What is meant by ambiguity of words? Explain with |

examples.

(c) What is the ‘Quoram feature of language’? Explain with ap
example.

(d) Distinguish, with examples, between stipulative definitiong
and reportive definitions.

(e) Distinguish between occurrent state and dispositional sta(e
with examples. ‘

(f) Explain two meanings of the word “purpose”.

(g) ‘All words have meaning but all things that have meanings
are not words’. — Explain with examples.

(h) Examine the following criterion: ‘A person has a concepj§

of ‘X’ when he knows the definition of “X”.
- Unit-1
2. (a) What is the principle of common usage of words? Does it
admit of any exceptions? ‘

(b) What is the relation between a word and its meaning,
according to Hospers? 12+4
3. (a) Explain and examine the referential theory of meaning.

(b) What is the peculiarity about the reference of the word “I"’?
(c) Which of the following words are referential? Give reasons
for your answer.

(i) “And” (ii) “White Crows” (iii) “Golden Mountain™ (iv)§f

“Elephant”. 10+2+4
Unit -2
4. (a) Explain with examples the different kinds of possibility
and impossibility.
(b) How are they related? :
" (c) Are the following state of affairs logically possible? Give
reasons.
(i) All men are 80 feet tall. (ii) Tigers can fly. (iii) To go from

Canada to India in 3 minutes. (iv) To see something that does not
exist. 6+6+4

5. (a) What is meant by ‘Coherence’ in the coherence theory ©
truth?
(b) Explain and examine the coherence theory of truth. 4+.] ﬁ

6. (a) State the three different senses of the word “know” wit
examples. (b) What are the conditions under which one can Clam;
that he knows that p? (c) Distinguish between strong and weak Scf;e 4
of the word ‘to know’.

4+8+

Seventh Paper — 2017 ARl ¢

Unit-3
7. (a) What are the characteristics of the laws of nature?

(b) Comment on the following sentence: ‘Laws should be
obeyed’. ! \

(c) Which of the following sentences express the laws of nature
jand why?

(i) All crows in India are black. (ii) All triangles have three
sides. (iii) Iron rusts when exposed to oxygen. (iv) Oceans must
contain water. 8+4+4

8. (a) Distinguish between the verifiability criterion and the
'confirmability criterion.
(b) Critically discuss the verifiability criterion of meaning.
: 4+12
9. (a) What is the logical status of the causal principle?

(b) Explain in this connection the view that ‘causal principle
is neither true nor false’. :

(c) Make a comparison between causal principle and other
scientific laws. ; 8+4+4 °

Unit-4 »
- 10. Discuss the main tenets of Phenomenalism. Mention the
‘defects of this theory. , 10+6
- 11. (a) What exactly is the problem of Universals? (b) Explain and
SEVENTH PAPER-2016
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Question No.l is compulsory and answer five more questions
taking at least one from each unit

1. Answer any four questions : 5x4
(a) Distinguish between Visésadharma and Sadharana dha;mao
(b) What is the difference between Mahavrata and Anuvrata’

(c) Distinguish between Moral and Non-moral actions with

illustrations.
(d) What is meant by psychological hedomlsm?
(e) Explain the Bauddha concept of liberation. e
(f) Discuss, in brief, Randal’s view regarding the religious us
of language ol
(g) Discuss any two argumems against the exnstence of go
given in Jaina phllosophy o,
(h) What is the cosmologlcal argument for the existence
.god?
Unit-1 1ait
2. What are the four ends (Purusartha) of human life? EXP 32
their inter-relations. "
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3. Explain the Vedic concept of Rta. What exactly do you
understand by Rna? Dlscuqs, in thls connection, the pancamaha-
yajnas. : 4+4+8

4. Discuss in detail the ethics of Panchaszla What is meant by
Brahmavihara bhavana? 10+6

Unit - 2

5. What is meant by ‘Categorical 1mpera11ve as advocated by
Kant? How is it related to ‘good will’? Why does Kant consider
stealing as immoral? 6+6+4

6. Explain and examine the reformative theory of punishment.

10+6
Unit-3

7. What is meant by the doctrine of Karma and the doctrine of
rebirth? What according to Hick, are some of the difficulties involved
in the idea of rebirth? 1046

8. What, according to the Holy Quran, is the nature of Allah?
How is Allah related to the world and man? 6+10

! Unit -4
9. Explain the Ontological Argument for the existence of God.

How does Kant criticize the Cartesian version of this argument?

- 10+6
10. Discuss in detail any two of the Nyaya arguments for the

-~ existence of God. 8+8

11. Is religious language symbolic? Discuss after Paul Tillich. 16

EIGHTH PAPER-2017
Full Marks — 100
(Vedintasara) _
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(Vedantasara)

Answer Question No.1I and any other five taking at least one from
each Unit

1. Answer any four questions: 5x4

(a) Who is the adhikari of studying Vedantasastra?

(b) What is the significance of regardmg jiva as prajria ?

(c) Why is samamupalutam caitanyam’ referred to as sutrd-
tma, Hiranyagarbha and prana?

(d) Why is ‘vyastyupahitam caitanyam’ regarded as Taijasa-’

(e) Briefly illustrate the four kinds of sthula sari ra.

Eighth Paper — 2017

(f) What is a mahavakya?
(¢) What is the difference between Jivanmukti and
v 1dehamuktt ?
(h) What is savikalpaka samadhi ?
Unit-1

2. Explain in detail the nature of sadhanacatustaya after Veda-
ntasara. 16

3. Explain the nature of upasana. In this context, discuss the

- parama prayojana and avantara phala of upasana. 4+12

4. What is meant by vastu and avastu according to Vedantasara?
What is the significance of regarding ajniana as avastu? Explain this
with reference to the nature of gjiiana. 4+12

Unit-II

5. Explain, after Vedantasara, the nature of the two kinds of sakti
of ajnana. 16

6. Whatis suksmabhuta? Give a detallcd 1llustral10n of suksmasrst
after Vedantasara. 4+12

Umt -1

7. What is sthulabhuta? Tllustrate in this context the process of
parcikarana . 1f pan czkarana is accepted then how could the usages
of the terms ‘akasa”, ‘vayu’ etc. be justified? 3+9+4

8. What is the nature of atman according to the Buddhists? How

. does Sadananda Yogindra explain the real nature of atman by refuting

the Bauddha view? 4+12
9. ‘Idam tattvamasivakyam sambandhatrayenakhanda-
rthabodhakam bhavati’ — Whal is here meant by sambandhatraya?

. Explain how the identity of jiva and Brahman is established with

the help of the sambandhatraya. 4+12
Unit-1V
10. What is Nirvikalpaka samadhi? What are the obstacles of this
samadhi? Explain how the removal of these obstacles is possible.
3+8+5
11. Illustrate the laksana of Jivanmukta. Explain in detail the

. Jivanmukta avastha after Vedantasara. 6+10

(An Enquiry Concerning Human Understanding)
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16
5. “All inferences from experience, therefore, are effects of custom;
ot of reasoning” — Explain this view of Hume: 16

6. (a) How does Hume distinguish between fiction and belief?

~ 7. How does Hume show that we do not get the idea of ne
onnection either from the mutyaj actions of the objects of the physical
orld or from the influence of our will power over our body? Explain,
this connection, Hume’s notion regarding the source of the idea of
Cessary connection. b 124
8. Discuss elaborately the two definitions of cause as given by

¢ in his ‘An Enquiry Concerning Human Understanding’. |6
9. Discuss, in detail, Hume’s theory regarding the relation between
erty and necessity. ;

Hume consider religioqs_hypothesis only as a
r 'icxa};ymi‘:ﬁgd of accounting for the visibje phenomena ‘of the
verse? Discuss. ' 16

, |

Eighth Paper - 2017 | 13

(An Enquiry Concerning Human Understanding )

Answer Question No.1 and any other five taking at least one from

each Unit

L. Answer any four questions: 5x4

(a) What does Hume mean by ‘mere philesopher’ ? ;
(b) What, according to Hume, are the three principles of

association of ideas? Discuss briefly.

(c) What does Hume mean by relations of ideas?

(d) What does Hume mean by menta] geography?

(¢) How does Hume explain the learning process of animals? -
Discuss, in brief, Hume’s view on probability of chance and

probability of causes.

(8) Discuss Hume’s view on the logical possibility of miracles.
(1) How does Hume criticize antecedent scepticism? :
Unit- |

2. How does Hume distinguish between false metaphysics and
true metaphysics? How, according to Hume, is it possible to cultivate
true metaphysics by rejecting the false one? 8+8

How does Hume distinguish between impression and idea? How

does he show that idea without impression is not possible?  6+]0
I

4. “All reasoning concerning matters of fact seem to be founded

the relation of cause and effect™— Explain and examine this statement
f Hume. (i

(b) Discuss_,' in this connection, the role of beliefin knowledge.

10+6
Unit- I1]

cessary-

16
Unit- IV '




i - 1) - 2017
14  C. U. Philosophy Hons. Question Papers (Part — I1I)

i icism? Discuss, in this
11. How does Hume criticize excessive scepticism? Discuss, ol
connection, Humes view on mitigated scepticism.
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(Russell’s Problems of Philosophy)

Answer Question No.1 and any other five taking at least one from
each Unit :

1. Answer any four questions:

(a) Distinguish between appearance and reality follo
Russell.

(b) Why does Russell think that exist
denied without absurdity? -

(c) Distinguish after Russell, between knowledge by
acquaintance and knowledge by description.
| (d) What are the two parts of the principle of induction?

(e) Discuss Russell’s view regarding the nature of Propositions
of logic and pure mathematics.

(f) What, according to Russell, are the sources of our

Sx4
wing

ence of matter can be

2) Distinguish between existence and subsistence.
(h) Distinguish between knowledge and error after Russel].

Unit- T : :
istinguish. sensation, sense-data and

(b) Are sense-data signs of the existence of matter? Discuss
fter Russell. 6+10
3. Explain Russell’s views on the nature of matter, 16
Unit-11 . ’
- 4. (a) What is idealism?
(b) How does Russel] explain the word ‘idea’ 2
(c) Discuss, after Russell, Berkeley’s idealism. 2+4+10
- 5. (a) Explain, after Russell, the nature of descriptive knowledge.
(b) Discuss the importance of this knowledge. 6+10
6. How could the laws of inductive be justified? Discuss after
16
ussell. Unit- 1o
7. Discuss, in detail, the disagreement between' empiricists and
Ationalists regarding our knowledge of general principles. 16

8. Discuss Russell’s opinion regarding Kant’s view on the
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Unit -1V
10. (a) How does Russell explain the different degrees of self-

evidence?
(b) What is their importance in theory of knowledge? 12+4
11. Explain and examine Russell’s view that correspondence with

fact constitutes the nature of truth. 12+4
(Western Logic)
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(Western Logic)
Answer Question No.I and any other five taking at least one from
each Unit 2
1. Answer any four questions: 5 x4
(a) Why is the method of indirect proof known as the method
of reductio ad absurdum?
(b) “There is a specific difference between the tree method and
the method of indirect proof. — Discuss.
(c) Explain, with examples, the difference between counter
example and the model for a consistent set of statements.
(d) Is the distribution of ‘3’ possible over conjunction?
Explain. A
(e)A ={1,2,3}, whatis the set of all subsets of A?
(f) What is it for two terms to be commensurate?
(g) On violation of which rule does the fallacy of cross division
occur? Explain with example.
(h) Why is the list of predicables given by Aristotle taken to be
- exhaustive? :
Unit -1
2. (a) Show how the principle of exportation validates the
conditional proof. -4
(b) Prove the validity of the arguments by the rule of
conditional proof: : 4x2
i)~A=~B, B=C, A ~C>oD
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(i) (EVF)5G, Ho(1:J)..(EcG)-(HI)
(c) Prove the validity by indirect proof: 4
gMVN)D(O *P), (OvQ)>(~R-S),
RvT)>(M-U).~R
3. (a) Explain, with example, how implication is determined by
means of truth tree method. e
(b) Test the validity of the following arguments by truth tree
ethod: . 4x2
(i) -(A>B), ~~AoB
(i) (-AVB)>C, ~Cv-A .
() Show whether the following two statements are equivalent
by using truth tree method:

A—(B—C) and (A—>B)->C. 4
Unit- IT
4. (a) Test the validity by the method of existential conditional:

4
All professors are learned. All learned professors are savants.
o all professors are learned savants.

(b) Determine by using the method of existential conditional -

hethey the statements are consistent or not: 4
(i) All F are G and (ii) Nothing is both F and G.
- (c) Determine the validity of the following statements by using
1e method of existential conditional:
(3x)(Fx+Gx) > [(3x)Fx-(3x)Gx] g
(d) Explain with example the law of existential distribution.

4
5. (a) Whatis “Universe of discourse’? Give examples. -
(b) Translate the sentences into the language of set-theory: 4
(i) Planets are nine. ,

(ii) Children who drink tea and milk do not drink coffee.
(iii) Everything enjoyable is either immoral or illegal or
ealthy. (iv) Apples, oranges and mangoes are sweet. .
(c) Let A = the set of all positive integers, B = (3, 5}, €=

(d) What do you un

les. 7 i
3 I()a) Prove that the empty SEtIS &8

il
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(b) Are the following statements true for all sets A, B, C? Give

reasons. 2x2

(i)If AcBand BeC,then AeC

(i) If AcBand BcC,then AcC :

(c)Prove: AcBand BcC—>AcC. 4

(d) Socrates is a man, men are numerous, hence Socrates is
numerous.— Is the argument valid? Give reasons in favour of your

answer. 4§ I couts
s Wﬁwmﬁwqﬁ;ml
7. (a) Explain the difference between terms of thought and terms X1 NVikie Eth; 437 o 369 WTZ;TW Bz v
verbal. 4 ics—47 T | 5IN T oo
PESET e Sl wteTes 77 | 93 FBites SRy 1))

(b) Why does Joseph say that adjectives are neither concrete
nor abstract? 4
(c) Characterise the following terms: 2x4
River, the youngest son of Devendranath, library, truthfulness.

8. (a) ‘The proper name recognizes its (of object) distinct
existence and the common name (recognises) its character that it
shares with others’ — Explain. ] \ 8

9 T oI Neg =g sl st ez | @+a+8
© | (oT Gel 7rw RS- FwaI ARG AN 9 | G
@ewﬁﬁmq%agﬁmmm‘awx&mﬁﬁwaw 53+8

8 | Ffers TMfSRmya 71 ¢ AR 37~ AR ST 39 | bt
¢ | SRR AT ¢ Reiew Yfeals mr a1 @2 2 s

(b) Genus and differentia are essentially one, because they _
were never separate — Explain. 8 oT Sty et ©f Sizamsa 79| S04y
9. What is a predicable ‘? Explain the list of predicables as given Y| e FATE AN IS FIG1 37| @ R SR
by Porphyry. Is it acceptable? Discuss. 4+4+3 8 Frars fF A2e0150 2 SeEee 39 | : k O+Q.9
Unit-TV 3 w Mg 3 :
10. (a) Whatis meant by negative definition? Give examples. Can R 2 S

a negative definition be correct in any case? Give reason for your - : s faw W‘Tﬂ%?{ SIeoR F 2 e (justice) @ Ay
answer. 342+ 3] (equality) afSSm st gfieet st w1 bt
S el v R SR 35 76 N 2 IS iR (justice based)

(b) Evaluate the given definitions:
(i) Man is a kind of animal.
(ii) An effect is something which has a cause.
(iii) Memory is the tablet of mind.
: (iv) Man is a six feet long rational animal.
11. What is division by dichotomy? Give examples. Can this type

el e Ko vt AR srermen st = @

So+yv

2B — 8
5| oS FSIRE G AT Smataeers i s Sfgr

of division be called a proper division? Discuss. 4+4+8 W ﬂmwm !
4 ' (Ethics) : So | (A1 @ (e I W""‘ Rea
SR ol R 20T RO (AT TS G5 A 2t T e ZuaTe, v g R b
208 B8R Wi sy | SfERfefam (metae

S| @A BIAMT 2Tad TeF Wi 3 (emotivism) 4%
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s (Ethics) i Eighth Paper _ 5917 - 23
Answer Question No. 1 and an Sfive taking at least one from each ]
0 i.vlm't : tlh 0. Explain i detail the €cologica] concerns of Buddhist apng Jaina
1. AﬂSNe'any Jour questions: 5x4 17 e : 8+8
(@) Why is freedom of will considered to be 4 postulate of bf e;nm?st o etacthics ? State anq cValuate the Metaethica] theory
morality? Answer in brief. i) : 4+12
(b) State, in brief, the essence of Plato’s view on Eudaemonism_ (Contemporary Indian Philosophy)
(c) Discuss any two arguments that have been adduced in favour M & g3e
P s e R BB caes m%a 9B 2 oy iy LIEE T
(d) Define absolute poverty. Discuss briefly the relatiop of TN B
. > G- B3 spparg Bz e ¢
morality to absolute poverty. 3 S @x8
(e) What is voluntary euthanasia? Briefly discuss whether there | & ) ﬁFHSMm IRIFTF @mreg Ao RUFT Sftersa I
are any arguments jn support of it €)) & g SR I IRy o Forg
(f) What do you understand by biocentric ethjcs? : WW?@)-‘ 1 i b
_ 2 a2 R oy AR (3) & oy

3 ; i :
(g) How docs patriarchy reinforce sexism? : bt SR Ko e oo BT I g (®) TR ER, s

(h) Is there an irrévocable boundary between libera] feminism 2 s 1=y y
and radica] feminism? Gijve reasons for your answer. o (5 m @ arzenfy AR
o T i “’WWW@W%W%W@@mam?@m
2. Explain the basic tenets of virtue ethics. Express Aristotle’s WW‘"%WW?

pomnt of view on highest virtue or excellence. Clarify, with the help
of an €xample, why he describes moderation as the golden mean.

Unit - I1
4. Discuss, in detail, about the Nature and scope of applied ethics.
- 848
5. Explain the arguments for and against suicide. Discuss in this
context whether suicide is a moral disvalue, 10+6
- 6. Explain the utilitarian view on the killing of animals. Is the
utilitarian view op this issue tenable? Discuss, 10+6

Unit - I

7. What does the concept of human rights signify? Examine the
role of human rights in establishing justice and equality 8+8

Unit - [V
9. Are the rights and development of the lives of normal adult
human beings preferred to that of the plants and Gorillas? Answer
‘with reference to deep ecology. 16
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(Contemporary Indian Philosophy)
Answer Question No.l and any five more questions taking at least
one from each Unit '
1. Answer any four questions : 5x4
(a) Discuss in briefVivekananda’s concept of practical Veda-
nta.
(b) “Religion is an essential part of our life’~How does
Vivekananda explain this? :
-(c) What is the significance of the word ‘seva’ in Vivekananda’s
philosophy? : :
(d) Explain in brief the concept of triple status of Supermind
after Sri Aurobindo. ;
() Elucidate the concept of liberation in the philosophy of
Rabindranath. - g :
(f) Discuss in brief the concept of Humanism of Rabindranath.
(g) What do you understand by trusteeship as propagated by
Gandhi?
(h) How does Gandhi explain the concept of Swaraj ?
Unit-1
2. Discuss the nature of Universal Religion as propagated by |
Vivekananda. b i 16 b
3. Discuss, after Vivekananda, the real nature of marn. 16 B
Unit-II o
4. Why does Rabindranath think that the physiological process |
of life’s evolution has reached its finality in man? In this connection

explain his theory of ‘surplus in man’. : ' 8+8|
5. Explain Tagores concept of ‘Universal Man’. 16
Unit - III
6. Discuss in detail, after Sri Aurobindo, the triple transformation ‘
of self. 16§
7. How does Sri Aurobindo show that ‘evolution’ presupposes f
‘involution’? Discuss. P
y 8. Discuss, after Sri Aurobindo, the view that the nature of reality
is saccidananda. 16
Unit-1V
9. Discuss Gandhi’s view on ‘Sarydgraha’, How does it diffeJ ;
from ‘passive resistance’ ? 12+4}
10. Explain the nature of man after Gandhi. 1 g &
11. ‘Truth is ?qd], *. Explaimafter Gandhi. 16}
a‘TL‘; %l Jﬁﬁﬁ‘
192/1. Rala Rammi 4oy
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